Shawl Gilet

Suggested yarn:
+ Keito-Zakka Stores New Cotton Baby [100% cotton; 93 yds/85m per 0.88 0z./25g skein];
« color #08 light pink lilac, 12 skeins [295q]

Tools/Notions:

+ 3.0mm (US 3) and 3.3mm (approx. US 4) knitting needles or sizes necessary to achieve gauge
+ 2.3mm (approx. US B) crochet hook or size necessary to achieve gauge

* cable needle

« tapestry needle

Finished measurements:
* bust 112cm/44.09"
* back length 71.5cm/28.15"

Gauge (10cm/4" square):
« stockinette stitch: 28 sts and 31 rows
* pattern stitch: 25.5 sts and 31.5 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge.
Alternatively, rework pattern with your own gauge measurements.

Summary
Back: Cast on with long-tail cast-on method. Work in stockinette stitch. Bind off.

Front & collar: Cast on with long-tail cast-on method. Work in pattern stitch. Bind off.

Finishing: Seam back, front, and collar, matching O to © using mattress stitch, and matching A to A using
stitches-to-rows mattress stitch. Work crochet edging around armholes and hem.

Abbreviations:

BO = bind off

CO = caston

pm = place marker
rep = pattern repeat(s)
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=1 repeat = 21 sts & 8 rows



